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—JbH X |
225,530,000 * 1/12 * 16.7% * 122 37,664
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SN 2B
M MY |54
ool H2HS |4 chel &
SH - BH - S(S) - NEMY - BES sy e 52
— ot &kl
225,530,000 » 1/12 = 1/30 » 15& 9,398
—sdsE 200,000 = 12% = 12& 28,800
—2d & =84 180,210
AlH| 57,240,000 57,240
== 11,130,000 11,130
2HA 9,540,000 9,540
R =&l (50 JIE) 33,150,000 33,150
Hal=&bl(50d JIE) 39,150,000 39,150
=M Ft € Hd&XeH
30,000,000 30,000
— g2z 20,000,000 20,000
—HIsH(e=E, ds=s 3) 12,000,000 12,000
—ZHy= 30,000,000 30,000
— X2 4,000,000 4,000
—=a2lh 5,000,000 5,000
-1 - A - doll 282 9,000,000 9,000
—d=SHIEx3 2,800,000  10¥ =+ 23 56,000
— =S EHI(UHSAIOI2HY) 1,500,000 1,500
405 XtobE SHI 44,700 17,500 27,200
01 MR ESF=H 44,700 17,500 27,200
OAI0IZ2E =2¢ 44,700
&N PE(E2E) 4,000,000 = 3CH 12,000
—XEN FL(EASF) 8,000,000 = 3CH 24,000
—=4 Jt7 2 1,000,000 = 6K 6,000
—3d=H 2 1,350,000 = 2CH 2,700
MSIIPAL 2E(2X) 4,834,000 ,000,000 3,834,000
= 1,300,000
= 910,000
i 2,624,000
JIEHERE dERHE HE 1,667,000 500,000 1,167,000
= 500,000
< 350,000
= 817,000
401 AIEHIZ R0 1,667,000 500,000 1,167,000
= 500,000
S 350,000
= 817,000
01 Al&HI 1,667,000 500,000 1,167,000
OJtE e 8% A8 1,667,000,000 1,667,000
= 500,000
S 350,000
s 817,000
FgdEN=s3d x4 500,000 0 500,000
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SA: 2R
Ha: AsNY |4
Sol: MSIIBAIE HE(2X) (649l &2
_ _ _ Muo
SA B G(E) - NEAY - B O & o4 i HREZ
401 AlEHIL LT 500,000 0 500,000
01 Al&l 500,000 0 500,000
O MEHSITH =4 500,000,000 500,000
HoMENSTY X4 2,667,000 500,000 2,167,000
=l 800,000
= 560,000
2 1,307,000
401 AlSHIL 2O 2,667,000 500,000 2,167,000
= 800,000
= 560,000
2 1,307,000
01 Al&Hl 2,667,000 500,000 2,167,000
OutMEHSZE X4 2,667,000,000 2,667,000
= 800,000
= 560,000
2 1,307,000
MSIISAIE =5 (XA 656,200 420,000 236,200
ZZAUSAE H| 356,200 420,000 63,800
201 Y2 Y| 4,000 0 4,000
02 ZZ2Hl 4,000 0 4,000
OAN & HIK X 4,000
—ZBSSH AXXC FABel 4,000,000 4,000
401 AISHIL 2] 320,000 320,000 0
01 A& 320,000 320,000 0
OZZHSAE | 100,000,000 100,000
OMAREHER DAFY| 30,000,000 30,000
ODHSE9l MSAIA FH| 30,000,000 30,000
OMSAIL AILS 24 110,000
—X5 - IPMENSTY 240 U2RY
SR BA 40,000,000 40,000
“IIBEHSSHTA LT DHBA
20,000,000 20,000
—JIBHS2 YSHH DM 21
50,000,000 50,000
OZZMBHSTY SZA SXBA
50,000,000 50,000
405 XHatE S| 32,200 100,000 167,800
01 KoL 2EH S| 32,200 100,000 67,800
ONBHST(EAR) 25717 7 32,200
—2g ol 4,000,000 * 6CH 24,000
—HEQIARKID] 500,000 * 4CH 2,000
—UBE2D 1,600,000 * 2CH 3,200
—=3¥(5825017) 3,000,000 * 1CH 3,000
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SN 252t
M HSMY |4
SRl MDAl S=(XHA) (&3
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
ZZ2HSAE EX0HL 300,000 0 300,000
401 Al&HI LS 300,000 0 300,000
01 Al&H] 300,000 0 300,000
OXNSAE EX WY OIBAZXER)
300,000,000 300,000
2334 BE L e 197,976 276,826 A78,850
= 50,000
[= 43,120
. = 104,856
MERL3 2 23 28 197,976 276,826 AT78,850
= 50,000
[= 43,120
= 104,856
SFEQX P2 U FHY| 36,526 92,926 A56,400
101 Q14 16,526 16,526 0
04 JIZtHI2Z2SES 16,526 16,526 0
OHERHE Xz
35,310 * 9 = 1300 A * 43 16,526
401 Al&HIZL LY 20,000 76,400 256,400
01 Al&H] 20,000 76,400 56,400
OSESH HH| 20,000,000 20,000
CXE 25 B2 L FH| 60,400 182,000 A 121,600
[= 18,120
= 42,280
401 Al&HI LY 60,400 182,000 A 121,600
[= 18,120
= 42,280
01 Al&H] 60,400 182,000 A 121,600
OQUANBZEZCI(HEMISHE S 6HA)
14,000,000 14,000
[= 4,200
= 9,800
o204 & 2&Hel 20,000
-0l EZR 10,000,000 10,000
[= 3,000
= 7,000
-0l REME 10,000,000 10,000
[= 3,000
= 7,000
OZEI|oHLE A 3,000
—0lgAlZZ R 1,500,000 1,500
[= 450
= 1,050
—0lERLEMI 1,500,000 1,500
[= 450
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SN 252
Ha: AEMB
CHol: QIEE AIESIM e (B9 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
04 JAM2RIISES 960 640 320
OORIOIAEAREE Y HYB2lH HEXN
960,000 960
=2 480
2 480
HH2AAY (222 D) 49,354 44,530 4,824
=B (2B D) 49,354 41,530 7,824
=l 49,354 41,530 7,824
201 Y2yl 24,830 24,200 630
01 AFR 22/t 24,830 24,200 630
L= 19,830
R E=5 22,000 * 104Xt * 122 2,640
—IIZNSEE 250,000 * 123 3,000
—AHSHEY 70,000 * 28tA 140
—2NREET 15,000 * 10% 150
—2NBEMT 50,000 * 28t A 100
—HYEBE(25) 90,000 * 28t A 180
—HYEE(45) 60,000 * 28t A 120
—= Al EY 500,000 * 104 * 33| 1,500
—SAESI EY 150,000 * 1CH * 43| 600
—oeH &4 300,000 * 7CH * 33| 6,300
—Zmall £
400,000 * 1CH * 33 * 43 4,800
—des)| A 50,000 * 1CH * 63l 300
o3| 5,000,000 5,000
202 o1l 19,564 16,330 3,254
01 2L otHl 19,584 16,330 3,254
OYREA I =01
120,000 * 178 * 128 * 80% 19,584
203 Y=Y 4,200 0 4,200
04 BA2SYALETY| 4,200 0 4,200
ORN2EAREAY 350,000 * 122 4,200
405 X&HE S 740 1,000 A 260
01 XHarU 225 S| 740 1,000 A260
O & (B 4) 200,000 * 174 200
O Tt 180,000 * 37H 540
Hess 100,000 50,000 50,000
LS HHX = (222 D) 100,000 50,000 50,000
TESE P 100,000 50,000 50,000
702 JI2HE2 100,000 50,000 50,000
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